
displayTree for Tree 1. Dataset: Segment.
n_folds = 5, n_trees = 1, n_min = 2,

min_node_impurity = 0.12, useIdentity = FALSE,
seed = 2021.

Node 0
z[18] <= 0.6351

gini index = 0.8559
samples = 168

value = c(21, 24, 27, 21, 26, 23, 26)

Node 1
z[9] <= -170.6016
gini index = 0.8427

samples = 142
value = c(21, 24, 5, 21, 26, 23, 22)

Node 34
z[19] <= -2.0976

gini index = 0.2604
samples = 26

value = c(0, 0, 22, 0, 0, 0, 4)

Node 2
z[17] <= 29.4731

gini index = 0.4954
samples = 43

value = c(0, 0, 0, 16, 26, 0, 1)

Node 5
z[16] <= -16.2456
gini index = 0.7922

samples = 99
value = c(21, 24, 5, 5, 0, 23, 21)

Node 3
gini index = 0.1107

samples = 17
value = c(0, 0, 0, 16, 0, 0, 1)

Node 4
gini index = 0
samples = 26

value = c(0, 0, 0, 0, 26, 0, 0)

Node 6
z[18] <= 0.365

gini index = 0.6136
samples = 37

value = c(10, 20, 0, 0, 0, 5, 2)

Node 17
z[19] <= -2.4073

gini index = 0.7732
samples = 62

value = c(11, 4, 5, 5, 0, 18, 19)

Node 7
gini index = 0.1107

samples = 17
value = c(1, 16, 0, 0, 0, 0, 0)

Node 8
z[19] <= -1.8665
gini index = 0.685

samples = 20
value = c(9, 4, 0, 0, 0, 5, 2)

Node 9
z[18] <= 0.7535

gini index = 0.6281
samples = 11

value = c(0, 4, 0, 0, 0, 5, 2)

Node 16
gini index = 0
samples = 9

value = c(9, 0, 0, 0, 0, 0, 0)

Node 10
z[8] <= 0.7213

gini index = 0.4444
samples = 6

value = c(0, 4, 0, 0, 0, 0, 2)

Node 15
gini index = 0
samples = 5

value = c(0, 0, 0, 0, 0, 5, 0)

Node 11
gini index = 0
samples = 1

value = c(0, 0, 0, 0, 0, 0, 1)

Node 12
z[6] <= 3.0567

gini index = 0.32
samples = 5

value = c(0, 4, 0, 0, 0, 0, 1)

Node 13
gini index = 0
samples = 4

value = c(0, 4, 0, 0, 0, 0, 0)

Node 14
gini index = 0
samples = 1

value = c(0, 0, 0, 0, 0, 0, 1)

Node 18
z[2] <= 69.2802

gini index = 0.3311
samples = 21

value = c(1, 2, 1, 0, 0, 0, 17)

Node 23
z[19] <= -4.5469

gini index = 0.7186
samples = 41

value = c(10, 2, 4, 5, 0, 18, 2)

Node 19
z[19] <= -2.4671

gini index = 0.1939
samples = 19

value = c(0, 1, 1, 0, 0, 0, 17)

Node 22
gini index = 0.5

samples = 2
value = c(1, 1, 0, 0, 0, 0, 0)

Node 20
gini index = 0
samples = 1

value = c(0, 0, 1, 0, 0, 0, 0)

Node 21
gini index = 0.1049

samples = 18
value = c(0, 1, 0, 0, 0, 0, 17)

Node 24
gini index = 0
samples = 18

value = c(0, 0, 0, 0, 0, 18, 0)

Node 25
z[14] <= -14.4959
gini index = 0.7183

samples = 23
value = c(10, 2, 4, 5, 0, 0, 2)

Node 26
z[14] <= -80.2356
gini index = 0.7101

samples = 13
value = c(0, 2, 4, 5, 0, 0, 2)

Node 33
gini index = 0
samples = 10

value = c(10, 0, 0, 0, 0, 0, 0)

Node 27
gini index = 0
samples = 5

value = c(0, 0, 0, 5, 0, 0, 0)

Node 28
z[18] <= 0.2699

gini index = 0.625
samples = 8

value = c(0, 2, 4, 0, 0, 0, 2)

Node 29
z[19] <= -2.4044
gini index = 0.5

samples = 4
value = c(0, 2, 0, 0, 0, 0, 2)

Node 32
gini index = 0
samples = 4

value = c(0, 0, 4, 0, 0, 0, 0)

Node 30
gini index = 0
samples = 2

value = c(0, 2, 0, 0, 0, 0, 0)

Node 31
gini index = 0
samples = 2

value = c(0, 0, 0, 0, 0, 0, 2)

Node 35
z[9] <= 217.2686

gini index = 0.1528
samples = 24

value = c(0, 0, 22, 0, 0, 0, 2)

Node 38
gini index = 0
samples = 2

value = c(0, 0, 0, 0, 0, 0, 2)

Node 36
gini index = 0.0832

samples = 23
value = c(0, 0, 22, 0, 0, 0, 1)

Node 37
gini index = 0
samples = 1

value = c(0, 0, 0, 0, 0, 0, 1)


